Star Wars Saga – 6 Player Encounter Chart 

	Encounter Difficulty +0
	Encounter Difficulty +1
	Encounter Difficulty +2
	

Encounter Difficulty +3

	(x / 3) - 2 = (ED)
	(x / 3) - 2 = (ED +1)
	(x / 3) - 2 = (ED +2)
	(x / 3) - 2 = (ED +3)

	APL
	Max CL
	Total CL
	APL
	Max CL
	Total CL
	APL
	Max CL
	Total CL
	APL
	Max CL
	Total CL

	1
	4
	9
	1
	4
	12
	1
	4
	15
	1
	4
	18

	2
	5
	12
	2
	5
	15
	2
	5
	18
	2
	5
	21

	3
	6
	15
	3
	6
	18
	3
	6
	21
	3
	6
	24

	4
	7
	18
	4
	7
	21
	4
	7
	24
	4
	7
	27

	5
	8
	21
	5
	8
	24
	5
	8
	27
	5
	8
	30

	6
	9
	24
	6
	9
	27
	6
	9
	30
	6
	9
	33

	7
	10
	27
	7
	10
	30
	7
	10
	33
	7
	10
	36

	8
	11
	30
	8
	11
	33
	8
	11
	36
	8
	11
	39

	9
	12
	33
	9
	12
	36
	9
	12
	39
	9
	12
	42

	10
	13
	36
	10
	13
	39
	10
	13
	42
	10
	13
	45

	11
	14
	39
	11
	14
	42
	11
	14
	45
	11
	14
	48

	12
	15
	42
	12
	15
	45
	12
	15
	48
	12
	15
	51

	13
	16
	45
	13
	16
	48
	13
	16
	51
	13
	16
	54

	14
	17
	48
	14
	17
	51
	14
	17
	54
	14
	17
	57

	15
	18
	51
	15
	18
	54
	15
	18
	57
	15
	18
	60

	16
	19
	54
	16
	19
	57
	16
	19
	60
	16
	19
	63

	17
	20
	57
	17
	20
	60
	17
	20
	63
	17
	20
	66

	18
	21
	60
	18
	21
	63
	18
	21
	66
	18
	21
	69

	19
	22
	63
	19
	22
	66
	19
	22
	69
	19
	22
	72

	20
	23
	66
	20
	23
	69
	20
	23
	72
	20
	23
	75


APL (Average Party Level):  This is the average of all of the character levels within the party.

ED (Encounter Difficulty):  This is the overall difficulty of the encounter and the number is based off of the current average of levels of party members.  Normally having an encounter that is equal to the APL or APL +1, however you can raise that difficulty further to APL +2 or +3.  It is suggested that the ED not go beyond APL +4.

CL (Challenge Level):  The measurement of difficulty for a particular enemy creature.

Max CL (Maximum Challenge Level):  This is the suggested maximum challenge level that any single enemy should have within the encounter.

Total CL (Total Challenge Levels):  This is the total number of CL’s that should be used in this encounter, normally spread out over 2 to 6 enemies.

Star Wars Saga – 5 Player Encounter Chart

	Encounter Difficulty +0
	Encounter Difficulty +1
	Encounter Difficulty +2
	Encounter Difficulty +3

	(x / 3) - 1 = (ED)
	(x / 3) - 1 = (ED +1)
	(x / 3) - 1 = (ED +2)
	(x / 3) - 1 = (ED +3)

	APL
	Max CL
	Total CL
	APL
	Max CL
	Total CL
	APL
	Max CL
	Total CL
	APL
	Max CL
	Total CL

	1
	4
	6
	1
	4
	9
	1
	4
	12
	1
	4
	15

	2
	5
	9
	2
	5
	12
	2
	5
	15
	2
	5
	18

	3
	6
	12
	3
	6
	15
	3
	6
	18
	3
	6
	21

	4
	7
	12
	4
	7
	18
	4
	7
	21
	4
	7
	24

	5
	8
	15
	5
	8
	21
	5
	8
	24
	5
	8
	27

	6
	9
	18
	6
	9
	24
	6
	9
	27
	6
	9
	30

	7
	10
	21
	7
	10
	27
	7
	10
	30
	7
	10
	33

	8
	11
	24
	8
	11
	30
	8
	11
	33
	8
	11
	36

	9
	12
	27
	9
	12
	33
	9
	12
	36
	9
	12
	39

	10
	13
	30
	10
	13
	36
	10
	13
	39
	10
	13
	42

	11
	14
	33
	11
	14
	39
	11
	14
	42
	11
	14
	45

	12
	15
	36
	12
	15
	42
	12
	15
	45
	12
	15
	48

	13
	16
	39
	13
	16
	45
	13
	16
	48
	13
	16
	51

	14
	17
	42
	14
	17
	48
	14
	17
	51
	14
	17
	54

	15
	18
	45
	15
	18
	51
	15
	18
	54
	15
	18
	57

	16
	19
	48
	16
	19
	54
	16
	19
	57
	16
	19
	60

	17
	20
	51
	17
	20
	57
	17
	20
	60
	17
	20
	63

	18
	21
	54
	18
	21
	60
	18
	21
	63
	18
	21
	66

	19
	22
	57
	19
	22
	63
	19
	22
	66
	19
	22
	69

	20
	23
	60
	20
	23
	66
	20
	23
	69
	20
	23
	72


APL (Average Party Level):  This is the average of all of the character levels within the party.

ED (Encounter Difficulty):  This is the overall difficulty of the encounter and the number is based off of the current average of levels of party members.  Normally having an encounter that is equal to the APL or APL +1, however you can raise that difficulty further to APL +2 or +3.  It is suggested that the ED not go beyond APL +4.

CL (Challenge Level):  The measurement of difficulty for a particular enemy creature.

Max CL (Maximum Challenge Level):  This is the suggested maximum challenge level that any single enemy should have within the encounter.

Total CL (Total Challenge Levels):  This is the total number of CL’s that should be used in this encounter, normally spread out over 2 to 6 enemies.

Star Wars Saga – 4 Player Encounter Chart

	Encounter Difficulty +0
	Encounter Difficulty +1
	Encounter Difficulty +2
	Encounter Difficulty +3

	(x / 3) = (ED)
	(x / 3) = (ED +1)
	(x / 3) = (ED +2)
	(x / 3) = (ED +3)

	APL
	Max CL
	Total CL
	APL
	Max CL
	Total CL
	APL
	Max CL
	Total CL
	APL
	Max CL
	Total CL

	1
	3
	3
	1
	3
	6
	1
	3
	9
	1
	3
	12

	2
	4
	6
	2
	4
	9
	2
	4
	12
	2
	4
	15

	3
	5
	9
	3
	5
	12
	3
	5
	15
	3
	5
	18

	4
	6
	12
	4
	6
	15
	4
	6
	18
	4
	6
	21

	5
	7
	15
	5
	7
	18
	5
	7
	21
	5
	7
	24

	6
	8
	18
	6
	8
	21
	6
	8
	24
	6
	8
	27

	7
	9
	21
	7
	9
	24
	7
	9
	27
	7
	9
	30

	8
	10
	24
	8
	10
	27
	8
	10
	30
	8
	10
	33

	9
	11
	27
	9
	11
	30
	9
	11
	33
	9
	11
	36

	10
	12
	30
	10
	12
	33
	10
	12
	36
	10
	12
	39

	11
	13
	33
	11
	13
	36
	11
	13
	39
	11
	13
	42

	12
	14
	36
	12
	14
	39
	12
	14
	42
	12
	14
	45

	13
	15
	39
	13
	15
	42
	13
	15
	45
	13
	15
	48

	14
	16
	42
	14
	16
	45
	14
	16
	48
	14
	16
	51

	15
	17
	45
	15
	17
	48
	15
	17
	51
	15
	17
	54

	16
	18
	48
	16
	18
	51
	16
	18
	54
	16
	18
	57

	17
	19
	51
	17
	19
	54
	17
	19
	57
	17
	19
	60

	18
	20
	54
	18
	20
	57
	18
	20
	60
	18
	20
	63

	19
	21
	57
	19
	21
	60
	19
	21
	63
	19
	21
	66

	20
	22
	60
	20
	22
	66
	20
	22
	66
	20
	22
	69


APL (Average Party Level):  This is the average of all of the character levels within the party.

ED (Encounter Difficulty):  This is the overall difficulty of the encounter and the number is based off of the current average of levels of party members.  Normally having an encounter that is equal to the APL or APL +1, however you can raise that difficulty further to APL +2 or +3.  It is suggested that the ED not go beyond APL +4.

CL (Challenge Level):  The measurement of difficulty for a particular enemy creature.

Max CL (Maximum Challenge Level):  This is the suggested maximum challenge level that any single enemy should have within the encounter.

Total CL (Total Challenge Levels):  This is the total number of CL’s that should be used in this encounter, normally spread out over 2 to 6 enemies.

Star Wars Saga – 3 Player Encounter Chart

	Encounter Difficulty +0
	Encounter Difficulty +1
	Encounter Difficulty +2
	Encounter Difficulty +3

	(x / 3) +1 = (ED)
	(x / 3) +1 = (ED +1)
	(x / 3) +1 = (ED +2)
	(x / 3) +1 = (ED +3)

	APL
	Max CL
	Total CL
	APL
	Max CL
	Total CL
	APL
	Max CL
	Total CL
	APL
	Max CL
	Total CL

	1
	3
	-
	1
	3
	3
	1
	3
	6
	1
	3
	9

	2
	4
	3
	2
	4
	6
	2
	4
	9
	2
	4
	12

	3
	5
	6
	3
	5
	9
	3
	5
	12
	3
	5
	15

	4
	6
	9
	4
	6
	12
	4
	6
	15
	4
	6
	18

	5
	7
	12
	5
	7
	15
	5
	7
	18
	5
	7
	21

	6
	8
	15
	6
	8
	18
	6
	8
	21
	6
	8
	24

	7
	9
	18
	7
	9
	21
	7
	9
	24
	7
	9
	27

	8
	10
	21
	8
	10
	24
	8
	10
	27
	8
	10
	30

	9
	11
	24
	9
	11
	27
	9
	11
	30
	9
	11
	33

	10
	12
	27
	10
	12
	30
	10
	12
	33
	10
	12
	36

	11
	13
	30
	11
	13
	33
	11
	13
	36
	11
	13
	39

	12
	14
	33
	12
	14
	36
	12
	14
	39
	12
	14
	42

	13
	15
	36
	13
	15
	39
	13
	15
	42
	13
	15
	45

	14
	16
	39
	14
	16
	42
	14
	16
	45
	14
	16
	48

	15
	17
	42
	15
	17
	45
	15
	17
	48
	15
	17
	51

	16
	18
	45
	16
	18
	48
	16
	18
	51
	16
	18
	54

	17
	19
	48
	17
	19
	51
	17
	19
	54
	17
	19
	57

	18
	20
	51
	18
	20
	54
	18
	20
	57
	18
	20
	60

	19
	21
	54
	19
	21
	57
	19
	21
	60
	19
	21
	63

	20
	22
	57
	20
	22
	60
	20
	22
	66
	20
	22
	66


APL (Average Party Level):  This is the average of all of the character levels within the party.

ED (Encounter Difficulty):  This is the overall difficulty of the encounter and the number is based off of the current average of levels of party members.  Normally having an encounter that is equal to the APL or APL +1, however you can raise that difficulty further to APL +2 or +3.  It is suggested that the ED not go beyond APL +4.

CL (Challenge Level):  The measurement of difficulty for a particular enemy creature.

Max CL (Maximum Challenge Level):  This is the suggested maximum challenge level that any single enemy should have within the encounter.

Total CL (Total Challenge Levels):  This is the total number of CL’s that should be used in this encounter, normally spread out over 2 to 6 enemies.

Star Wars Saga – 2 Player Encounter Chart

	Encounter Difficulty +0
	Encounter Difficulty +1
	Encounter Difficulty +2
	Encounter Difficulty +3

	(x / 3) +1 = (ED)
	(x / 3) +1 = (ED +1)
	(x / 3) +1 = (ED +2)
	(x / 3) +1 = (ED +3)

	APL
	Max CL
	Total CL
	APL
	Max CL
	Total CL
	APL
	Max CL
	Total CL
	APL
	Max CL
	Total CL

	1
	3
	-
	1
	3
	-
	1
	3
	3
	1
	3
	6

	2
	4
	-
	2
	4
	3
	2
	4
	6
	2
	4
	9

	3
	5
	3
	3
	5
	6
	3
	5
	9
	3
	5
	12

	4
	6
	6
	4
	6
	9
	4
	6
	12
	4
	6
	15

	5
	7
	9
	5
	7
	12
	5
	7
	15
	5
	7
	18

	6
	8
	12
	6
	8
	15
	6
	8
	18
	6
	8
	21

	7
	9
	15
	7
	9
	18
	7
	9
	21
	7
	9
	24

	8
	10
	18
	8
	10
	21
	8
	10
	24
	8
	10
	27

	9
	11
	21
	9
	11
	24
	9
	11
	27
	9
	11
	30

	10
	12
	24
	10
	12
	27
	10
	12
	30
	10
	12
	33

	11
	13
	27
	11
	13
	30
	11
	13
	33
	11
	13
	36

	12
	14
	30
	12
	14
	33
	12
	14
	36
	12
	14
	39

	13
	15
	33
	13
	15
	36
	13
	15
	39
	13
	15
	42

	14
	16
	36
	14
	16
	39
	14
	16
	42
	14
	16
	45

	15
	17
	39
	15
	17
	42
	15
	17
	45
	15
	17
	48

	16
	18
	42
	16
	18
	45
	16
	18
	48
	16
	18
	51

	17
	19
	45
	17
	19
	48
	17
	19
	51
	17
	19
	54

	18
	20
	48
	18
	20
	51
	18
	20
	54
	18
	20
	57

	19
	21
	51
	19
	21
	54
	19
	21
	57
	19
	21
	60

	20
	22
	54
	20
	22
	57
	20
	22
	60
	20
	22
	66


APL (Average Party Level):  This is the average of all of the character levels within the party.

ED (Encounter Difficulty):  This is the overall difficulty of the encounter and the number is based off of the current average of levels of party members.  Normally having an encounter that is equal to the APL or APL +1, however you can raise that difficulty further to APL +2 or +3.  It is suggested that the ED not go beyond APL +4.

CL (Challenge Level):  The measurement of difficulty for a particular enemy creature.

Max CL (Maximum Challenge Level):  This is the suggested maximum challenge level that any single enemy should have within the encounter.

Total CL (Total Challenge Levels):  This is the total number of CL’s that should be used in this encounter, normally spread out over 2 to 6 enemies.

